Adyoint of a 2x2 matrix

Suppose P,Q are the rows of a 2x2 matrix. The
_adjoint of the matrix is defived as
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Adjoint and Cramer's Rule summed up
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Cross product corresponds to the positive
normal in 2 dimewsions. Guen, B Q in R?’) OP.0Q - SN
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T+t is possible to explain the formula. Given

P,Q, and N = PxQ (assume vwonzero), project
N horizontally onto the z-axis and the
parallelogram vertically onto the xy-plave.

The length of ON, and the

area of the parallelogram, N
are both multiplied by the same
factor cos theta

The projected parallelogram has
corners 0, (a,b,0), (d,e,0), and the fourth corwer.

Tts area is +/- (ae-bd), ... as given.

is the third compovent of PxQ.
Purely for interest, not for examination.

Say P=(a,b,c)
Q= (d.e,f)
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The projection of N



